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Example Candidate Responses: Paper 6

Introduction

The main aim of this booklet is to exemplify standards for those teaching IGCSE Chemistry (0620), and to
show how different levels of candidates’ performance (high, middle and low) relate to the subject’s
curriculum and assessment objectives.

In this booklet candidate responses have been chosen to exemplify a range of answers. Each response is
accompanied by a brief commentary explaining the strengths and weaknesses of the answers.

For each question, response is annotated with clear explanation of where and why marks were awarded or
omitted. This, in turn, is followed by examiner comments on how the answer could have been improved. In
this way it is possible for you to understand what candidates have done to gain their marks and what they
will have to do to improve their marks. At the end there is a list of common mistakes candidates made in their
answers for each question.

This document provides illustrative examples of candidate work. These help teachers to assess the standard
required to achieve marks, beyond the guidance of the mark scheme. Some question types where the
answer is clear from the mark scheme, such as short answers and multiple choice, have therefore been
omitted.

The questions, mark schemes and pre-release material used here are available to download from the School
Support Hub. These files are:

Question Paper 31, June 2016

Question paper 0620_s16_qp_31.pdf
Mark scheme 0620_s16_ms_31.pdf

Question Paper 41, June 2016

Question paper 0620_s16_qp_41.pdf
Mark scheme 0620_s16_ms_41.pdf

Question Paper 61, June 2016

Question paper 0620_s16_qp_61.pdf
Mark scheme 0620_s16_ms_61.pdf

Other past papers, Examiner Reports and other teacher support materials are available on the School
Support Hub at www.cambridgeinternational.org/support
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Example Candidate Responses: Paper 6

How to use this booklet

Example Candidate Response - middle Examiner comments

1 Prolons, neutrens and elecirons are subalomic particles,

The candidate needed to
o how orobin et Q .
(a) Ebrun:laﬂntabhlu fhe relative mass and rélative charge of a an and an realise that relative charge

[ paricle |  rolatvemass | relative charge / N

Examiner comments are \

/Answers by real candidates in exam i alongside the answers,
conditions. These show you the types of L linked to specific part of the
answers for each level. e answer. These explain

Bl where and why marks were
Discuss and analyse the answers with awarded. This helps you to
your learners in the classroom to interpret the standard of
improve their skills. R Cambridge exams and

\_ / Rak. uath, sane. pafan. | helps your learners to

- —ewromd.. .. @) .. @| refine exam technique.
(i} Explain why the two isolopes. of bromine have the same chemical properties. \\
BemuiR. tney. 0. of. M. SR, Clemenk. . Mol Same........ ISOTOpEs OT Dromine naving
the same number of outer
PASNRE. O RIOTRIT s s 1| electrons.
(¢} The table shows the number of protons, neutrons and slectrons in.some aloms and long. Mark awarded for(b) =
Complete the table. 2outd

How the candidate could have improved the answer

(b) (ii) The candidate needed to realise { This explains how the candidate could have improved the
than positive and negative for proton an| ,ngwer. This helps you to interpret the standard of Cambridge

(c) The candidate failed to include the exams and helps your learners to refine exam technique.

Common mistakes candidates made in this question

(a) Failing to give relative masses and refafive cha This describes the common mistakes candidates made in

answering each question. This will help your learners to
avoid these mistakes at the exam and give them the best
(k) (ii) Failing to state that it is the number of outef chance of achieving a high mark.

(b) (i) Failing to recall that isotopes are atoms.
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Example Candidate Responses: Paper 6

Assessment at a glance

All candidates must enter for three papers.

Core candidates take:

Paper 1 45 minutas
A multiple-choice paper consisting of 40 items
of the four-choice type.

This paper will tast assessment objectives
A07 and ACZ. Questions will ba basad on the
Core syllabus content.

This paper will be weighted at 30% of the
final total mark.

Paper 3 1 hiour 15 minutes

A wiritten paper consisting of short-answer
and structured questions.

This paper will tast assessment objectives
ADT and AC2. Questions will be based on the

Core syllabus contant.

80 marks

This paper will ba weighted at 50% of the
final total mark.

Extendad candidates taka:

Paper 2 45 minutes
A multiplechoice paper consisting of 40
iterns of the four-choice type.

This paper will test assessment objectives
ADT and AD2. Cuestions will be based on
the Extended syllabus content {Core and

Supplament).
This paper will be weighted at 30% of the
final total mark.

Paper 4 1 hour 15 minutes
A owritten paper consisting of short-answer
and structured guesticns.

This paper will test assessment objectives
AD1T and AD2. Questions will be based on
the Extended syllabus content {Core and
Supplament).

80 marks

This paper will be weightad at 50% of the
final total rmark.

All candidates take

gither:

Paper 5
Practical Test

Questions will be based on the experimental
skills in Section 7.

The paper is structured to assess grade ranges
A5
A0 marks

This paper will be weighted at 20% of the final
total mark.

1 hour 15 minutes

This paper will tast assessment objective ACZ.

or

Paper 6 1 hour

Altarnative to Practical
This paper will test assessment objective AC3.

Cuestions will be based on the experimantal
skills im Saction 7.

The paper is structured to assess grade ranges
Ar_G
40 marks

This paper will ba weighted at 20% of the final
total rmark.

Teachers are reminded that the latest syllabus is available on our public website at

www.cambridgeinternational.org and the School Support Hub at www.cambridgeinternational.org/support
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Example Candidate Responses: Paper 6

Paper 6 — Alternative to Practical

Question 1

‘ Example Candidate Response — Question 1, High Examiner comments

1 The diagram shows the apparatus used to separate a mixture of water, boiling point 100°C, and 0
ethanol, boiling point 78°C. The mark scheme has

‘fractionating column’ but the
answer given is close enough to
score a mark

£ cactio
Colizian 9 ‘Water' is all that was
required for each of these labels,
but the answers given are still
better.
water and

9 The word ‘tripod’ alone
scores the mark but the word
‘stand’ alone would not.

ethanol mixture

trpod (3 ) Mark awarded for (a) =
2ecnd 2 out of 2

(a) Complete the boxes to name the apparatus. [2] Mark awarded for (b) _
1 out of 1

(b) Label the arrows on the condenser. 1

(c) Identify one mistake in the apparatus. o r;o Thedcandidtﬁte doeks nor’: use
the wording in the mark scheme,

ORRLYIY. TeOk... EO... Praleo W 01 | put it is cloar from their answer

that they understand this.

(d) Vth(c\haI%Ewould collect first? Explaln your answer. \)J(LbU‘ 5

,_,lﬁ\p@(‘ &\C\J\W Mark awarded for (c) =

1 out of 1

\’Q b@ibl(\....

Omb 9.

(e) Why would it be better to use an electrical heater instead of a Bunsen burner to heat the water 6 An incorrect answer has: been
and ethanol mixture? crossed out and replaced with the

thhanol..io... Hosninde @ i | correct one. Itis important that
incorrect answers are completely
[Total: 71 | deleted by candidates. If two
conflicting answers are given, no
marks are scored.

Mark awarded for (d) =
2 out of 2

@ Almost the exact words on
the mark scheme. It was not
necessary for the candidate to
state that an electrical heater
would avoid the risk of fire.

Mark awarded for (e) =
1 out of 1

Total mark awarded =

7 outof 7
@ PAST PAPERS
INSIDEM
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Example Candidate Responses: Paper 6

How the candidate could have improved the answer
(a) The correct name is ‘fractionating column’ but the answer given was close enough for a mark. The word
‘stand’ with ‘tripod’ was not really necessary.

8 Cambridge IGCSE Chemistry (0620)



Example Candidate Responses: Paper 6

Examiner comments

Example Candidate Response — Question 1, Middle

1 The diagram shows the apparatus used to separate a mixture of water, boiling point 100°C, and 0 X i

ethanol, boiling point 78°C. The candidate gives the
name of a piece of apparatus
with a similar shape but is
clearly not familiar with the
name specified in the mark

scheme.

buresks @

9 No problems here. The
word ‘water’ would have
sufficed but there is nothing
wrong with the answer given.
Simply labelling ‘in’ and ‘out’
would not have scored marks.

water and
ethanol mixture

9 The word ‘stand’ is

& d e superfluous and would not

e have scored marks if used
alone.

- (a) Complete the boxes to name the apparatus. 2]
Mark awarded for (a) =

(b) Label the arrows on the condenser. [1] 1 out of 2

. (c) Identify one mistake in the apparatus. Mark awarded for (b) =

1 out of 1

M

000 o0pMed k0. condanted Moprs A Q...

(d) Which liquid would collect first? Explain your answer.

(e) Why would it be better to use an electrical heater instead of a Bunsen burner to heat the water
and ethanol mixture?

............ WWOSQMWW o N,

[Total: 7]

0 The mark scheme has
‘heat applied under the
beaker’, but, since the beaker

contains the condensed liquid,

it is clear what the candidate
means and the answer is still
judged to be correct.

Mark awarded for (c) =
1 out of 1

@ A straightforward answer
which almost exactly matches
the mark scheme.

Mark awarded for (d) =
2 outof 2

@ It is true that an electrical
heater allows the choice of a

particular temperature. This is,

however, not important in this
experiment and it is not the
reason given in the mark
scheme.

Mark awarded for (e) =
0 out of 1

Total mark awarded =
S5outof7

@ PAST PAPERS
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Example Candidate Responses: Paper 6

How the candidate could have improved the answer
(a) The piece of apparatus looks similar to a burette but isn’t one. The candidate needed to give the correct

name here.

(c) The candidate should have used the wording in the mark scheme which has ‘heat applied under the
beaker’ or something similar, but, since the beaker contains the condensed liquid, this answer was allowed.

10  Cambridge IGCSE Chemistry (0620)



Example Candidate Responses: Paper 6

Examiner comments

Example Candidate Response — Question 1, Low

1 The diagram shows the apparatus used to separate a mixture of water, boiling point 100°C, and

ethanol, boiling point 78°C. o The candidate appears not

to know the name of this piece
of apparatus, perhaps because
they haven’t seen or done this

experiment.

measurin

Cy \-.“397;' o 9 No answer given here.
Candidates sometimes fail to
answer questions which do not
involve writing an answer on a

line.

water and
ethanol mixture

9 Correct and to the point.

Mark awarded for (a) =

Triped 9 / o \ 1 out of 2
Mark awarded for (b) =
(a) Complete the boxes to name the apparatus. [2] 0 out of 1 ( )
(b) Label the arrows on the condenser. 1] 0 .
Here the candidate has

Cg\\eo\-‘“7
(c) Identify one mistake in the apparatus. H f" qf;p‘\ea m,? bhffef--le

o ...... X

deleted a correct answer only
to replace it with a wrong one.
The use of the word ‘burette’
makes it wrong even though
the word ‘collecting’ has been
added. It is not wise for

(d) Which liquid would collect first? Explain your answer.

W AXEY g boCOMSE. .. it il -Gk sepem"\‘ﬁé Arom
@ nang) .. 9 ................................................................................................... 2

(e) Why would it be better to use an electrical heater instead of a Bunsen burner to heat the water
and ethanol mixture?

Fnraccurai‘f’},ea«l-sn/qe M

[Total: 7]

candidates to use words which
they don’t understand.

Mark awarded for (c) =
0 out of 1

6 The initial answer is wrong
here, and so the reason,
although there is some truth in
it, cannot be correct either.
Again, the candidate appears
to be unfamiliar with this
experiment.

Mark awarded for (d) =
0 out of 2

@ An electrical heater may
result in ‘accurate heating’ but
this is not the reason why it is
used in this case.

Mark awarded for (e) =
0 out of 1

Total mark awarded =
1outof 7

Q PAST PAPERS
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Example Candidate Responses: Paper 6

How the candidate could have improved the answer

The candidate was clearly unfamiliar with this experiment. It is in the syllabus and it is essential that
candidates attempting this paper have had experience of practical work. This paper is NOT an alternative to
practical work but an alternative way of assessing practical work.

Common mistakes candidates made in this question

(e) The commonest wrong answer to this question was stating that the electrical heater was used to provide
accurate heating, rather than because ethanol is flammable.

12 Cambridge IGCSE Chemistry (0620)



Example Candidate Responses: Paper 6

Question 2

Example Candidate Response — Question 2, High Examiner comments

2 Astudent investigated the'reaction between aqueous'sodium carbonate and two different solutions
of dilute hydrochloric acid, A and B.
The reaction is:

Na,CO,(aq) + 2HCI(aq) — 2NaCl(aq). + H,0(l) + CO,(g)
Three experiments were carried out. B
(a) Experiment 1
Usiﬁg a measuring cylinder, 25cm?® of aqueous sodium carbonate were poured into a conical
giill;olphthalein indicator was added to the conical flask.
A burette was filled up to the 0.0cm?® mark-with solution A of dilute hydrochloric acid. A was

added to the flask, until the solution just changed colouir.
Use the burette diagram torecord the reading in the table:

12

=1

w

III|[IH T I|III'I|IIII|IHI

14

final reading

Experiment 2

Experiment 1 was repeated using methyl orange indicator instead of thymolphthalein.
Methyl orange is red-orange in acidic solutions and yellow in alkaline solutions.
Use the burette diagrams to record the readings in the table and complete the table.

initial reading final reading
) experiment 1 . experiment 2
|final burette reading/cm® 1%.2 3G9
initial burette reading/cm?® o) i 1%
o Mark awarded for (a) =
difference/cm? 129, 6tk 4 out of 4

[4]

@ PAST PAPERS
INSIDE
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Example Candidate Responses: Paper 6

14

Example Candidate Response — Question 2, High

(b) -What colour.change-was observed:in-the flask in experiment 2?

from ............ T \IVIE SRR | (o JTOPIRY O ‘.CC\XX%E, ................................ [1]

{c) Experiment3
Experiment 1 was repeated using solution B of acid instead of solution A.

Use the burette diagrams to record the readings in the table and complete the table.

i—— O
initial reading ) final reading
experiment 3

final burette reading/cm?

66 A
4.9 -~

difference/cm? £

initial burette reading/cm?® '

[2]

(d) Suggest one-observation, other than colour change, that is made when hydrochloric acid is
added to sodium carbonate.

.................................. Efferves.ence..... 0nah.... bohlta.... ok 0. LODMCSS.... § 9., [1]

i

(e) Complete the sentence below. ; (carloon Soade)

Experiment ... 2.... needed the largest volume of hydrochloric.acid to change the colour of the
indicator. 1]

(f} What would be a more accurate method of measuring the volume of the aqueous
sodium carbonate?

........................ u&mﬁj«&urekbeo 1]

Examiner comments

Mark awarded for (b) =
1 out of 1

Mark awarded for (c) =
2 out of 2

Mark awarded for (d) =
1 out of 1

Mark awarded for (e) =
1 out of 1

Mark awarded for (f) =
1 out of 1

0 Parts (a) to (f) are all
correct.

Cambridge IGCSE Chemistry (0620)
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Example Candidate Response — Question 2, High

Example Candidate Responses: Paper 6

Examiner comments

u
{g) What would be the effect on the resuits, if any, if the solutions of sodium carbonate were
warmed before adding the hydrochloric acid? Give a reason for your answer.

9 ‘No change’ is correct but
the reason given does not
really apply. The candidate is
perhaps implying that the

effect on results ....... B2 S ) fhana& concentration of the

carbonate is not changed as
\"ﬂo}g reason .. & .. W 4o .. dammm&&.é. ...... sedinon.. L. mcfm\ne a result. but this is not
33 [2] S
explicit.
(h) (i) Determine the ratio of volumes of dilute hydrochloric-acid used'in experiments 1 and:3.
¢ o gced  doony ) o + ol Mark awarded for (g) =
..... EXPRriNEN Ry O\ VOIDME. 4 EApesden et 2 1 out of 2
- — 4 94
(ii) Use your answer to (h)(i) to deduce how the concentration of solution A differs from that
of solution B. 0 . .
The candidate gives the

Fhan
LEolusion.... ... 18 .morz......concenivared... (doobled. . soltitis [1]0 ratio as 2:1 but an answer

written as words would still

(i) Suggest a different method, using 'standard laboratory chemicals, to détermine which of the have scored the mark.

solutions of dilute. hydrochloric acid, A or B, is more concentrated.

LGIng e some L s and. L gaelicte.. . STze. L g QL TRAONS.... .
3 0 The candidate has

spotted that this means a
twofold difference in
concentrations but,
unfortunately, has not
thought this through and
gives the wrong acid as the
more concentrated.

..... LR, 819y, OGS, .« Add ... cOtla.. fo..... 4. SCpaAE.... COnTRa...
...... HOSIG. ... AdG...... 2. Lngon... YOume..... & SOl Bsg A (zsemt) S0

e JCSK L Contnal. F0sk o and...... m;:a,swz..,.ma....zm...yq....gp;s...(logifnsm)

....pr.bn\.pdidn...,...Q\J.M....,m...l?m.up"r B0e.. Lcpealk... it s0lvhon... &
(some  uplume o 250m3)  ph e ohe oSk |, meadre e
are o gos  prodbtmn OV he SAme wme. Comparc  [Total: 17]
ohe fhar pmdvced more  §OS @mdt Me  injtval has wor
concentrebed  agd  AolBur -

Mark awarded for (h) =
1 out of 2

6 Correct reactants.

0 There is nothing about
how the rate will be
measured: timing, counting
bubbles, etc.

One mark lost.

0 The candidate fails to
explain a way to determine
which solution is the more
concentrated.

Mark awarded for (i) =
2 out of 3

Total mark awarded =
14 out of 17

How the candidate could have improved the answer
(g) The candidate could have improved their answer by giving the correct reason here. The answer included
a correct chemical concept but it was not relevant to this problem.

(h) (ii) It is quite a common error to conclude that if more of a solution is used, it is more concentrated,
whereas the opposite is the case.

(i) The candidate should have included more detail, in what was a correct answer, to gain full marks

PAST PAPERS
INSIDE
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Example Candidate Responses: Paper 6

16

Example Candidate Response — Question 2, Middle

2 Astudent investigated the reaction between aqueous sodium carbonate and two different solutions
——————

of dilute hydrochloric acid, A and B.
The reaction.is:

NaZCOS(aq) + 2HCl(aq) —» 2NaCl(aq) + H,0(l) + COz(g)

,

Three expenments were carried out.

(a) Experiment 1

Using a measuring cylinder, 25 cm? of aqueous sodium carbonate were poured into a conical

l‘ flask.

’[A\{m it*=) Thymolphthalein indicator was added to the conical flask.
A burette was filled up to the 0.0cm?® mark with solution A of dilute hydrochlonc acid. A was
added to the flask, until the solution just changed.colour.
Usé the burette diagram to record the reading in the table.

HIIIIII]I! () LLLLE LA Ll

final reading

Experiment 2

Experiment 1 was repeated using methyl orange indicator instead of thymoiphthalein.
Methyl orange is red-orange in acidic solutions and yellow in alkaline solutions.
Use the burette diagrams to record the readings in the table and complete the table.

E s
§40
initial reading final reading:
experiment 1 experiment 2
final buretté reading/cmé I H. .8 drne o 40 .2 Cme
initial burette reading/cm?® O. O cn'\‘g ] o Q ng
difference/cm® [ 4. 20md Q1.Gem’

N2

Examiner comments

0 The candidate is reading the
scales as if they were measuring
cylinders and clearly hasn’t looked
at the next main division in either
case. Only the differences are
correct.

Mark awarded for (a) = 2 out of 4

Cambridge IGCSE Chemistry (0620)
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Example Candidate Responses: Paper 6

Example Candidate Response — Question 2, Middle Examiner comments
(b) What colour change was observed in the flask in experiment 2? e Correct
LC R =) | 12 oted. -O*fanag e M
Mark awarded for (b) = 1 out of 1

{c) Experiment 3
Experiment 1 was repeated using solution B of acid instead of solution A.

Use the burette diagrams to record the readings in the table and complete the table.

= E 45
;JU ;17' )
initial reading | final reading
experiment 3
final burstte reading/om® | |77 2 ke 9 Same error as in part (a).
initial burette reading/cm? 0. e e Mark awarded for (c) = 1 out of 2
difference/cm? 7 4-,@“3

[2]

(d) Suggest one observation, other than colour change, that is made when hydrochlonc acid is o True, bUt no marks are SC(_)red
added to sodium carbonate. here as this is not an observation.

G-%ussfxsgmnw{& .............................................................................................. ) How would the gas be seen?
Mark awarded for (d) = 0 out of 1

(e) Complete the sentence below.
Experiment 8. needed the largest volume of hydrochloric acid to change the colour of the
indicator. [11 | Mark awarded for (e) = 1 out of 1
(f) What would be a more accurate method of measuring the volume of the aqueous

sodium carbonate? Mark awarded for (f) = 1 out of 1

. U&ir\a B Uo[umelm; Y 1]

@ PAST PAPERS
INSIDE
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Example Candidate Responses: Paper 6

18

Example Candidate Response — Question 2, Middle

(g). What would-be the effect on. the: results, if any, if the solutions ‘of sodium -carbonate were
warmed before adding the hydrochloric acid? Give a reason for your answer.

effect on results ....lt:e,....xmchan QDOOIJ ke. %2-6“'

(h) (i) Determine the ratio of volumes of dilute hydrochloric-acid used in éxperiments 1 and'3.
.................................... I U £

(ii) Use your answer to (h)(i) to deduce héw the concentration-of solution-A differs from that
of solution B. con dation c% 0
2ofed .O.t&m ld%;m ..... & 1

Solotbnﬂcsl:wtce -
(i) Suggest a different method, using standard laboratory chemicals, to determine which of the
solutions of dilute hydrochloric acid, A or B, is more concentrated

Sodmm erlaona ..... oncJ ﬂ\en achj ée 4®©m8 O’?‘ éam;o
...... Aaf&e HeL%bad then. xole.. the. fime. Yoo, Y2POOT...
ﬁ\ &)ov the. Oﬂ'\ox mmpbog ﬂ\a Qo ¥, ”ﬂwﬂ (B PR,
the. fime 0. thal the. &SZZQQL IS...onoe.. @ncgn{Y@+QA 'H'nn 3]

othexr One.

[Total: 17]

Examiner comments

6 A common wrong answer. The
candidate knows the reaction would
speed up and explains why, but
does not state how the result (i.e.
the volumes measured) would be
affected.

Mark awarded for (g) = 0 out of 2

@ The ratio in part (i) is correct
but this result is misinterpreted.
Only 1 mark.

Mark awarded for (h) = 1 out of 2

0 These are correct reactants as
a titration is not being used.

9 ‘Note the time’ for what? No
marks here. If ‘bubbles collecting a
gas’ or ‘waiting till effervescence
stops’ had been mentioned the
answer would have scored full
marks.

Q This is a correct way of
deciding which is more
concentrated.

Mark awarded for (i) = 2 out of 3

Total mark awarded =
9 out of 17

How the candidate could have improved the answer

(a) and (c) The candidate read the scales as if they were using a measuring cylinder. A closer look at the

values given on the scales would have made this careless error obvious.

(d) The candidate’s answer was factually correct but did not constitute an observation, just a fact. The

candidate needed to say how the gas would be seen.

(g) Again the candidate’s answer was true, but this speeding-up would not affect the final results. The
candidate needed to say how the result (i.e. the volumes measured) would be affected.

(h) (ii) The same error as the highest scoring candidate.

(i) A correct answer but not containing sufficient detail to score full marks. The candidate needed to mention

‘bubbles collecting a gas’ or ‘waiting till effervescence stopped’.

Cambridge IGCSE Chemistry (0620)
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Example Candidate Responses: Paper 6

Example Candidate Response — Question 2, Low Examiner comments

2 Astudent investigated the reaction between aqueous.sodium carbonate and two different solutions
of dilute hydrochloric acid, A and B.
The reaction.is:

Na,CO,(aq) + 2HCl(aq) — 2NaCl(aq) + H,O(l) + CO,(g)
Three experiments were carried out.
(@) Experiment 1

Using a measuring cylinder, 25cm?® of agueous sodium carbonate were poured into a conical
flask. .

Thymolphthalein indicator was.added to the conical flask.

A burette was filled up to the 0.0cm?® mark with solution A of dilute hydrochloric acid. A was
added to the flask, until the solution just changed colour.

Use the burette diagram to record the reading in the table.

final reading

Experiment 2

Experiment 1 was repeated using methy! orange indicator instead of thymolphthalein.
Methy! orange is red-orange in acidic solutions and yellow in alkaline solutions.
Use the burette diagrams to record the readings in the table and complete the table.

-
N

L -

IIIII IIIIII’IIII

%

][lillll I IIHII[IIIIIIIII
w
©

:—"14
initidl reading © final feading:
] experiment 1 experiment 2
| final burette reading/cm? 12+ ' ' 79.2
initial burette reading/.cm" . O-\ ’ 2 . 8 : N 0 Correct readlngs are glven
difference./cm® 1 9.0 2L 4 here, but the lack of the .0 in

1 the initial reading for
experiment 1 loses a mark.
Mark awarded for (a) =

3 out of 4
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Example Candidate Responses: Paper 6

Example Candidate Response — Question 2, Low

i(b) What.colour ¢hange was .observed in the flask in experiment 2?

from .......RE4. = QLANGLE o O Yé’l)awe ]

(¢) Experiment 3
Experiment 1 was repeated using solution B of acid instead of solution A.

Use the burette diagrams to record the readings in the table and complete the table.

=—s =—15
2_—9 5—16 .
i:——.l 9] %—17 ]
initial readingl final reading
» ~ experiment 3
final burette reading/cm? [ - ;
initial burette reaoﬁr;gl'cm3 B 9. *9
| t;.lifferencelcm3 » é’ . 6’

o [2]

(d) Suggest one observation, other than colour change that is made when hydrochlorlc acid is
added to sodium carbonate.

........ @E{’jﬁvd,b{g;qyg{ormea’ [1]

{e) Complete the sentence below.
Experiment ‘3 needed the.largest volume of hydrochlaric acid to change the colour.of the

indicator. e [1]

(f) What would be a more accurate method of measuring the volume of the aqueous
sodium carbonate? !

Examiner comments

9 This is the correct colour
change but in the wrong
direction, so no mark.

Mark awarded for (b) =
0 out of 1

Mark awarded for (c) =
2 out of 2

Mark awarded for (d) =
1 out of 1

9 It is not clear why the
candidate has chosen
experiment 3 as the answer
here.

Mark awarded for (e) =
0 out of 1

0 The candidate has realised
that a measuring cylinder
would have been less accurate
here.

Mark awarded for (f) =
1 out of 1

@ PAST PAPERS
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Example Candidate Responses: Paper 6

Example Candidate Response — Question 2, Low Examiner comments

(g) What would be the effect-on the results, if any, if the solutions of sodium -carbonate were
warmed before adding the hydrochloric acid? Give a reason for your answer.

effect on results ....DifLerent. Yemperature. e The candidate has

= i) FERET a5l misunderstood the question.
reason +b5$’@&mmcarbana¢ﬂ>%§ YA -3 r
6 @ Mark awarded for (g) =
, 0 out of 2
(h) (i) Determine the ratio of volumes of dilutehydrochlori¢ acid used:in eéxpériments 1 and 3.
[9‘8 o488 s e [1] 0 The candidate doesn’t
(i) Use your answer to (h)(i) to deduce how the concentration of solution A differs frorh that understand the concept of ratio
of solution B. and has simply added the two
The.yahio..af. gz Salaton Ais. highes. o1 values together.
mor € congentratTed .

{i) Suggest a different method, using standard laboratory chemicals, to determine which of the 0 Again, the candidate
solutions of dilute hydrochloric acid, A or B, is more concentrated. doesn’t understand about
MAsing.. Gomrias Buy. retle.. and. +h;rmo phihalein concentrations.

‘A lnn = a-
~Indicotor. .and.. g Ang . or lute.. }ﬁ@ Mark awarded for (h) =
edrochloric. @c)z} aho? b h @l t.... 2091 0 out of 2
Lolnxion. fo...the yor €. . concehtira. %’d
..... AN A B AN IS 010 KR O D3 A reo’ O This seems to be a mixture
_ o OF orange coloy- e G%Q of two methods, neitheri of
& ~w [Total: 17] which merits marks. Using

thymolphthalein as an indicator
is just another titration, but
towards the end the candidate
seems to suggest using
universal indicator to measure
pH and thus identify the more
concentrated solution. This just
wouldn’t work even if it were
properly explained.

Mark awarded for (i) =
0 out of 3

Total mark awarded =
7 out of 17

Q PAST PAPERS
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How the candidate could have improved the answer
(a) The candidate did not give 0.0 as the initial reading.

(b) The candidate gave the correct colour change but the wrong way round.

(e) Since the candidate correctly identified all the volumes, it is unclear why they picked the wrong answer
here.

(g) The candidate could have improved their answer by reading the question more carefully. The answer
given just did not answer the question.

(h) The candidate clearly did not understand the meaning of ‘ratio’.

(i) The candidate explained a method (titration) which is essentially the same as that originally used. A
different method was requested.

Common mistakes candidates made in this question
(i) Many candidates suggested using the same method again with different substances. Candidates should
understand that the method is independent of the substances used. A titration is always a titration.
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Question 3

Example Candidate Response — Question 3, High Examiner comments

3 Two substances, C and D, were analysed. Solid .C was a salt and solution D was an aqueous
solution of chromium(III) chloride.
The tests on solid C, and some of the observations, are in the following table.

tests observations

tests on solid C

Solid ¢ was added to distilled water in a
test-tube and shaken to dissolve.

The solution was divided into two portions in
test-tubes, and the following tests carried out.

Appearance of the solution. colourless liquid 0
The pH of the first portion of the solution was pH=7 A_perfeCt answer. A correct
tested. chemical formula would also

have gained full marks.
The marks are separate so

Dilute nitric acid was added to the second

portiori of the solution followed by aqueous cream precipitate ' either ‘sodium’ or ‘bromide’
silver nitrate., , alone or coupled with another
‘ ion would gain a single mark.
s, t
A flame test was carried out on solid C. yellow flame colour Mark awarded for (a) =
. , : 2 out of 2
(a) Identiy solld C. . o ‘ o @ ‘Chromium’ is not in the
Sodiwn, bwwide & 2 main body of the syllabus. This
- is a practical paper and any
(b) Describe the appearance of solution D. e candidate Wh% hlaks dﬁne the
\ ion tests would, like this
2N . ’
87\’@&\0“{ ....... %Q\M\(\B’f\ ...................... . . [11 candldate, know the correct
answer.
(c) Tests were carried out on solution D.
Complete the observations for tests 1, 2 and 3. Mark awarded for (b) =
1 out of 1
(i) testt

Drops of aqueous sodium hydroxide were added to solution D.

9 Again a perfect answer,

Excess aqueous sodium hydroxide was then added to the mixture. repeating what is included in
observations ..... 75@01\97\4@6\0\\\’0\\/@_ QBW\Q/ WL QK28 the Tests for ions’ section of
the syllabus.

@ PAST PAPERS
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Example Candidate Response — Question 3, High

(i) test2

Excess aqueous ammonia was added to solution D.

observations %F@SO\QKCPI\ Omo \3(0\\_& \f\&b\)\\\o\?_ AN ANTY Y o

(i) test3

Dilute nitric acid was added to solution D followed by agueous silver nitrate.

Witke... psesspkole.

observations

i1

(d) Chromium(III) can be converted to chromium(VI). Chromium(VI) is hazardous.

Suggest one safety precaution when.using chromlum(VI)

ANgss.. %\D\f%@ S . 1]
! [Totai: 10]
RSN VLR
agw«* “\0\
con | AN mgb\AaL
stk tolden (7]
goW\.J‘. !
1o Yrorndthon CInomiu (O chlodde
premidLier »
Noo

Examiner comments

0 Here ‘grey-green’ is
important as this is the
description of the colour given
in the syllabus.

6 A perfect answer.

Mark awarded for (c) =
6 out of 6

@ This is the best answer to
this question, as chromium (VI)
is harmful to the skin. However,
as the candidate is not
expected to know this, other
safety precautions would also
have been accepted.

Mark awarded for (d) =
1 out of 1

0 These notes from the
candidate show how they
made sure of getting their
answers correct.

Total mark awarded =
10 out of 10

How the candidate could have improved the answer
This candidate achieved full marks.

Cambridge IGCSE Chemistry (0620)
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Example Candidate Responses: Paper 6

Example Candidate Response — Question 3, Middle Examiner comments

3 Two substances, C and D, were analysed. Solid C was a.salt and solution D was an agueous
solution of chromium(III) chlorlde
The tests on solid C, and some of the observations, are in the following table.

tests ) ) ) observations

tests on solid C:

:Solid C was added. to distilled, water in a|
test-tube and shaken to dissolve.

"The solution was divided into two portions in’
test-tubes, and the following:tests carried out. .| N

Appearance of the solution. colouriess liquid
The pH of the first portion of the solution was pH=7
. |tested. 0 The candidate gains a
' — — — single mark for correctly
Dilute nitric acid was added to the second . ) ‘ identifying the bromide ion but
portion of the solution followed by aqueous : cream precipitate \ _ has not taken account of the

silver nitrate. . . .
flame test which gives sodium

as the other ion.

1 A flame test was carried outon solid C. yellow flame colour

Mark awarded for (a) =

_— 1 out of 2
(a) Identify solid C.
Lwite on @ 2 P2} . .
If the candidate had carried
I - colution D. out the ion tests described in
(b) Describe the appearance of solution (2 the syllabus, they would know
b = = smmee . hlae lid\id 1 that the colour is green even
though the metal chromium
(¢) Tests were carried out on solution D. and its compounds are not
Complete the observations for tests 1, 2 and 3. mentioned elsewhere in the
syllabus.
(i) test1
Drops of aqueous sodium hydroxide were added to solution D. '}(Iark a]\c/varded for (b) =
' out of 1
Excess aqueous sodium hydroxide was then added to the mixture.
i il | Sofué .
observations ....§.4€.€ ... PH’( Q '['('H’/ AL b S 2! olunéle o The candidate has
Qe CX( 055 13} correctly learned this test and

its result. Full marks.
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Example Candidate Response — Question 3, Middle Examiner comments
(i) ‘test 2
- Excess aqueous-ammonia was added to solution D. - i 0 The candidate knows this

precipitate is insoluble and so
gains one of the marks here.
(iii) test3 However, the ‘Tests for ions’
section of the syllabus
describes the colour as grey-
observations ’Nm‘?wc’c'(llh{-fw,rcﬁ(lgalvblf 6 green and this was the
description required to gain a

(d) Chromium(III) can be converted to chromium(VI). Chromium(VI) is hazardous. mark.

observations ;::...Q.[é.@;e."!d..»........ﬁ.;f...f.?.:.ﬁ‘.l.'.ﬂ./.‘-.'.‘iﬁ.ll."‘.ﬁ.........Laél.!:.%:...;..‘.).....;.iflﬂ!.'.".‘./ﬂ 6

Dilute nitric acid was added to solution D followed by aqueous silver nitrate.

Suggest one safety precaution when using chromium(VI).

o 6 The candidate knows that
.. M CL LG, [1] this test yields a white

precipitate. However, they
[Total: 10] wrongly state that it is soluble

and this cancels out the mark
gained. Had the candidate
simply stated ‘white precipitate’
they would have gained the
mark. It is sometimes
inadvisable to add
unnecessary information.

Mark awarded for (c) =
4 out of 6

@ All of these answers are
acceptable as a precaution
(including the deleted one).
‘Gloves’ was the best answer
because of the nature of the
hazard.

Mark awarded for (d) =
1 out of 1

Total marks awarded =
7 out of 10

How the candidate could have improved the answer

(a) Solid C is a bromide but this is not a complete identification. The flame test should have told the
candidate ‘sodium’ bromide.

(b) Solution D is indeed a liquid but a colour was also required here.

(c) (ii) The official description of this colour in the syllabus is ‘grey-green’. This was the answer expected.
(c) (iii) The candidate correctly gave ‘white precipitate’ but this mark was cancelled out by the wrong

statement that it was soluble. It was not necessary to state anything about solubility here, so if the candidate
had not added these words, they would have gained the mark.

Q PAST PAPERS
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Example Candidate Responses: Paper 6

Example Candidate Response — Question 3, Low Examiner comments

3 Two substances, C and D, were analysed. Solid C was a salt and solution D ‘was an aqueous
solution of chromium(III) chloride.
The tests on solid C, and some of the observations, are in the following table.

tests observations

tests on solid C

‘Solid C. was. added to :distilled water in, a
test-tube and shaken to dissolve.

The solution was divided into two portions in|
test-tubes, and the following tests carried out:

Appearance of the solution, colourless liquid
The pH of the first portion. of the solution was; pH=7
tested.

0 The candidate misses the

Dilute- nitric acid was added to the second

portion. of the solution followed by. aqueous cream precipitate importance of the flame test
silver nitrate. and loses the second mark by
— . o - = writing ‘bromine’, which is not
Aflame test was carried out ori solid C. yellow flame colour the same as ‘bromide’, the
_ bromine ion which the test
: shows.
(a) Identify solid C.
' %6@1(030 ............................................................................................ [21 Mark awarded for (a) =
0 out of 2
(b) Describe the appearance of solution D. 9 _ _
5’h(n9 5 L . The candidate is clearly
B 2174 1 T thinking of the metal chromium,
not of the compound named.
(c) Tests'were carried out on solution D.
Complete the observations for tests 1, 2 and 3. Mark awarded for (b) =
] 0 out of 1
(i) test1
Drops of aqueous sodium hydroxide were added to solution D. 0 The mistake from part (b)
Excess aqueous sodium hydroxide was then added to the mixture. is carried forward here. The
observations bet‘/ﬂﬂ?@' ......... YW;’Y ........................ W']O"see candit;late perhap§ has n_o .
g}"' experience of tes.tlng forions in
.......... ['9 [3] a pract|ca| expenment_
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Example Candidate Response — Question 3, Low Examiner comments

- (i) test2
_ @) tes : 0 The candidate has given a
* Excessraqueous ammonia was added:to solution D. SR meaningless answer because
observations .. 5¢&S ... K&D%’@'e ...... o et et [2] they h.ave no pre_\ctlcal .
experience of this test. It is
(iii) test3 important that candidates

attempting this paper have
some experience of the
observations 6 ....................... ettt 1] practical part of the syllabus.

Dilute nitric acid was added-to solution D followed by aqueous silver nitrate.

(d) Chromium(III) can be converted to chromium(VI). Chromium(VI) is hazardous. e No answer offered. This is

a very straightforward question
for any candidate who has

practical syllabus.

Suggest one safety precaution when using chromium(VI).

{[Total: 10]
Mark awarded for (c) =
0 out of 6

@ This is a safety precaution
and though it would not be of
particular help in coping with
this hazard it is worth a mark.

Mark awarded for (d) =
1 out of 1

Total mark awarded =
1 out of 10

How the candidate could have improved the answer
(a) A careless mistake: the correct word to use is ‘bromide’. ‘Bromine’ refers only to the element.

(b) and (¢) The candidate was clearly thinking of the metal here, not about its compounds.

Knowledge of the tests for ions detailed in the syllabus would have enabled the candidate to score well in
this answer.

Common mistakes candidates made in this question

A significant number of weaker candidates scored well on this question because they had learned the tests
for different ions. It is essential that these are known and preferably experienced through practical
experimentation by candidates.
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Question 4

Example Candidate Response — Question 4, High

4 Calcium burns in aiir to form calcium-oxide. The reaction is vigorous and some of the calcium oxide
can be lpst as smoke. _
Plan an investigation to determing the maximum mass of oxygen that-combines to form calcium
oxide when 2g of calcium granules are bumnt in air. .

You are provided with common laboratory apparatus aiid caicium granules.

¢

N

I lowely, ondcocosionally. sgen Hhe criive 1o ol
NOR oo acugh: Nhen  28e- all o e calclom

O s v <ochedh, ek e o8 codBhore, wnive ~hen

O .cendon W10 colodiale PR s o exaeen
2 OSSOk Fhe “&J@‘*&%ﬁ%w

[Total: 6],

Examiner comments

0 One mark awarded for
weighing.

9 One mark awarded for
heating the granules.

9 One mark awarded for
allowing the entry of air here,
but there is no mention of how
the crucible is to be ‘opened’
(using a lid).

0 There is nothing about how
the candidate will know when
all the calcium oxide has
reacted.

9 One mark awarded for
allowing the calcium oxide to
cool.

0 One mark awarded for
reweighing the calcium oxide.

0 The candidate has made a
mistake in calculating the mass
of oxygen.

9 A good answer from a
candidate who clearly knows
the experiment and how to
carry it out. However, some
careless mistakes and
omissions from the method
mean that only 5 of the 6
marks are scored.

Total mark awarded =
5 out of 6

How the candidate could have improved the answer

This was a good answer but the candidate lost a mark at the end as they subtracted the mass of the calcium
oxide from the mass of calcium rather than the calcium from the calcium oxide. This careless mistake cost a

mark.

Example Candidate Responses: Paper 6
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Example Candidate Response — Question 4, Middle

4 Calcium burns in air to form calcium oxide. The reaction is vigorous and some of the calcium oxide
can be lost as smoke.
Plan an investigation to determine the maximum mass of oxygen that comblnes to form calcium
oxide when 2g of calcium granules are burnt in air.
You are provided with common laboratory apparatus and calcium granules.

‘::%

&7 0(
e‘é‘d e.. 2.6k Coltinn. ramdes. in. gﬁmﬁ\ﬁmnuo\’ e O :)\iY

@'K"’R«u’\ ‘mu.&k \aé.‘-L b\eJ LorHa abs.. ‘\‘me\ j&; f:n.d' ...........
'& ma(%fm Coppex.eand.. puale. Hee ode nmside dmside...

QW\ML\)AW k%m"?f m\\MAwmm% h\\\ﬁfeﬂa‘(-\‘

. ‘\)( !P\\\jn ?ﬁvv\gm Nass. 04’ o%}mmr“é@%w%. 9 .....

ves...aroed. wemreﬁ Wa?m ................... 6

[Total: 6]

Examiner comments

0 The candidate is clearly
thinking about the experiment
to find the percentage of
oxygen in air here and has
even labelled the metal as
copper.

9 One mark awarded for
implying that 2g of calcium is
weighed.

9 One mark is awarded for
mentioning heating. (This mark
is gained even though the
candidate has again referred to
the metal as copper.)

0 One mark awarded for
reweighing the calcium oxide.

6 The candidate explains the
final calculation incorrectly and
so fails to earn this mark.

6 The candidate gives an
incorrect method which would
not work here. However, they
score 3 marks overall and
nearly gain 4.

Total mark awarded =
3outof6

How the candidate could have improved the answer

In this exercise the candidate needed to devise an experiment which they would not have carried out during
their course, but which was based on one they were familiar with. If they had used a different experiment as

the basis for their own method, they would have gained more marks.
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Example Candidate Response — Question 4, Low Examiner comments

4 Calcium burns in air to form calcium oxide. The reaction is vigorous and some of the calcium oxide
can be lost as smoke. *
Plan an investigation to determine the maximum mass of oxygen that combines to form calcium
oxide when 2g of calcium granules are burnt in air.
You are provided with common laboratory apparatus.and calcium granules: .

L{.f,wgsg 0 :‘#) alr

g

om 8101”319&

b; a ‘ | o 0 Unfortunately, ‘heat’ has been
YOUQW+QJ<QO-6@Gm3€qT|rB»QQnC‘Px'“ll:l‘ncu}{{) crossed out here. This would have
_Gur....aohich. Containe. exyoen... Y. dake. the. Galeiom... scored a mark.

. th)l%o.nclp'acaeﬁqmﬂl‘ncs’c:)@%%{'@&l’{bb@\/&’u
g o,%la‘f‘k'(@mlcassi ...... the....aiv. osio ov%u]oainfl‘oH\Q

lie{kjoomouke@uwﬂo«z/snomra{v ..... J.9Y. .02

afv. Chmese...in.: \/ouﬂan&bﬂr{r)ofﬁmoka%(og ...........
‘oroclucac:'o.ncLH')@n:,foochackH@]n{}s'oJ Q)“;OQ)'Q}OYQ

......... JKQ-OJ"O’V\‘{Q A \‘J“CIQ{O-DCLQm TQ;¥+O+}7Q¢€J'EIOI 6
%\’é Odrlumg qooq@i;l: (100 Sob) ;’mF:fQ aiﬁ‘?'ﬁq‘rotal:[ei

ond  then Yoo easove the meoes o

Hli- 9 9 The candidate only earns one
mark for this answer and does not
seem to know how such an
experiment could be carried out.

9 A mark is awarded for
measuring the mass of the solid
produced.

Total mark awarded =
1 out of 6

How the candidate could have improved the answer

The candidate had little idea of how to approach the task, and could have made better use of the information
given in the question. For instance, it was clear that the calcium should be burnt in air. It was also clear that
weighing before and after the experiment was necessary (‘maximum mass of oxygen’, ‘2g of calcium
granules’).

Common mistakes candidates made in this question

Candidates are told in the question that some of the calcium oxide ‘can be lost as smoke’. This was to
prompt them to try to prevent this, e.g. by using a lid. The low-level response above focused on collecting
and weighing the ‘smoke’, and this was quite a common error. However, the question makes it clear that this
is only ‘some’ of the calcium oxide. Candidates should read questions carefully.
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